%@%"4%&%3 A
112 & & % 6 o= B9 3 42 9 BL38 38 4L
(g2 B : R 73 Fah s b A R~ At R ]

B B

el LA

EH 1004 FE2A X 50EFA o (S£7 Hic)
C1) L SR EF SO BAAY

(D18 (2)20 (3)19 (17 & -

(2)2. HI- BAApLDRA) -

(1) (2) (3) 0

(1) 3. 2R B

Gy
'z
0.
N




(4) 4.

(2)05.

(2)6.

I Y
D

(D (2) (3) (4)

D N b

HBhaElHR A E R %\'Fﬁ‘]"l/ﬂ

G VaA

3; F’B@m@’]

(1) (2) (3) (4)




caHr1n NS

(D

(1)8

(D

(1)9

(D7
(2)6 (3)3 (4)4
® o

(2)

(2)

ég}gﬁ&
je &
m = e[
1130

(3)

¥ B
27
xRzl )
A5 o

(3)

(4)




(3)

(3)

(3)

(2)

(2)

(3)

(4)

(3)

10.

11.

12.

13.

14.

12.

16.

17.

(D (2) (3) (4)
TR E AT A K 2

(1)*¥ 3 FmJnk<2)rm gEir (mY Twm | 2 )y Ta
?, o

TR PG R

(Dags P ()il s ER S (D3

w0 AN F TR LA TR

S S RN i Y P S A LR

(- @2)= Bz De B -

THEe - b A TR p p g R0

(D‘iéﬁﬁﬁ?’?%lﬁﬁﬁﬁ(D%i%%ﬁﬁﬁ,ﬁ%ﬁg
TEE QP ARFE AR R (DIRREPLE > ELES

:QW_{J‘O

rﬁ‘/é’f%%%y o ERkET I HBA . ERIMETE KAFFHE
Foo | R - pFHA g L AR

(DagssF # (Z)EF ReF DEFEF (DRI o

F T wHe

(DMASZ E (D Hehg &k (3)r 49 (DF g Lo

A T

3R T LAT
?

H




18.

19.

20.
21.

22.

23.

24.

25.

26.

(DEE (D% 2 Gl (DL
wE=F T o

(7% (DR (i X (4xsE -
I Rl = N

(D i 7 (DF B2 7 (DAt 7 (DRARRAF -
ZR(1)EFE (DFF (DFEEX (DHF & uEkiw 545 Yo B o

PP FFRHRFFEFECoMILINNELF AR T LIV R E [
L]

(D7 #&g (2% 432 &% (DFH R (DR -

" G IR AN ?

(D27 5,2 @FTanmE DATE, D5, FA-
I B k= g fp.]ﬂazg’gqr "2 92

(D)7 = prents > 74 ’#Eé il B TgppEpe | (2)% ¢ g i &
MR TRpr At DEEEY T AR e 4
Lot (Dl T B L EARESEEE

b g v g RELE LR 26 F2 o
EA AR R s

(D#mE (D=3ES Qb REF (DEDFE-

IR NG RSt o

(D= fdp> (-7 3pdste Q-epil=zte (D-32
FZBY e

"TROEAI IR S FERABE  RL T BBETE o 5 b
B 7

(Ds2d g ovedd i (2)H iz p 3 FMFsEE (DA

- 3]]




(4) 27

(1) 28.

(4) 29

¢ 1) 30.

(4) 3l

(3) 32

(1) 33

(4) 34

(1) 35.

CEL S DF o~ T L b Az e R

(D~ B~ e (DF s e~ B e OB ~ e e~ W (D>
r}:’;;\ﬂ;’;‘\ S

E A Fr e gE o

(D# g (2)% g3 % (HAF R0 (DRI 54 -

®AO&™ - gL

(D& ~a (DK~ (DF s (DA~ 3

=]
M- Lz R84 ,,\4231%:.{‘75 cEL EFow b EEE T

N\

3

\

)

e TEF ) PR RA
(D2 sgid (DBFRAEP QD FaEPr (DBERRK Y o
- 7L B E 630m> = & H40m nE B i i - BRI %ﬂjf,ﬁzix,} 20 o
B pt ki R 3 50 2R
(1)1910 2 = (2)1810 2 = (3)1610 2 = (H)1710 2 = -
AL 15 SRS 18 22 s TH KT KoK E 35 P 4
EFF 261 PR30 A eIlE > TR LRSS 220
(D12.8 =2 (2)14.8 22 (3)16.8 =2 (4)18.8 =~ 2
oo 3 IR A BF L EAHE G 30 4 0 HTIBL T4 A 5 A2
k3 20 4 » X305 544 » Rl 2FTT 05 B oY
(1)66 (2)65 (3)64 (4)63 » -
FEI0 ATt PREOIRF G FE 507
1 1 1 1
(1)5 (Z)Z (3>§ (4)ﬁ°
- BAE AR fos T e 89 BAcs F st 19 150 Freha ik

GRUE 1% BB A Bechis 85 59



( 3) 36.

(4) 37

(3) 38.

(4) 39.

(1) 40.

(2) 41

(4) 42.

(1) 43.

(D32 (D B +e ()2

. — . ) Ii_

8:L1=01:32"R5=7?
1 1

(D16 (28 ) — W7+

F - LA Efo- B 4750 EARE 0 dod Sl B A5G A
144 T2 28 Pz 45mE B R E NS Q

(1)24 (2)21 (3)18 (4)16 = 4 -

el BihG 4Be  RlEBiay 5O BE?

(1)24 (2)28 (3)36 (4)56 & -

PH g 0% e @R 20481 02 [BapFEE 35
2,7 B F 3 pERE 100 20 B UR— B a1 BRD vi— B paE Bl 2

(D ~f (27~ D ~7 D7 ~2 -
1001 > 1026 > 1062 = #cede ~ o Flied_ 5 -7

(D1 (2)7 (3)19 (4)59 -

~ o 4 e RIS IS 4 »/]- A DS I
;,15;3@1%_5@%,%_%5)3@%915& 2% H X FT
rn—,";") ] &~ ¢« ,tyi_:_%i%”] TIJ'TW’J—:/Z)% ] &% ’33«1’{“]"’ 3 ;}z,‘;ﬂ};f‘g
.

2o BB EREHE S 2 0

(1)38 28 (2)48 2 (3)28 & & (4)58 2 & o

WA S AEH 18% 8 4 0 L F 4 1564 &~ - #1T 830
APl R SR 0

(1)984 (2)1000 (3)1100 (4)1200 =~ o

’ A 5
A A5 A %4 ¥ 22 A% 1>
I -?‘i‘:Z‘ET"g’E"JBKZ’m}“F?

o

11
15

15

(12

30 30
OENOENE)



(4) 44.

( 3) 45.

(2 ) 46.

(2) 47

(1) 48.

(3) 49.

( 3) 50.

2 5 ot = B = ]' B I8 = .
K- RIePFEZREATZT R fimg et IR R 81 O % AT T
FOAR 4 sl o PIEIR AT B AR N 2 2 2

(1)118 (2)136 (3)145 (4)161 =~ = -

EAFHIT LI APF 124 > BT EE AT 3050 047
(1315 (2)45 (3)63 ()72 4 -

O O _3

= — ! =9
8 12 4 rIL] ’

(116 (2)18 (3)24 (4)32 -

hef - EOMOE SR 3 A8 8T 1004 PIHE A G FAST
A

(1)540 (2)412 (3)318 (4)210 T = =4 -

% ’ 2 Y ’ 2 2/ o
2 X R p oo g &{}%%ml?% »dop A1 E R F G PEA8 A o PP E

T AN
(15184 (2)5 28 4 (36 64 (4)6 FF 24 4 o

T}E}c&r’ﬁ - AdEhEE S AERTRI20% R F R G UERY
(D220 (2)2FF 104 (I EF20 4 (DI PEF10 4 -

9,42 2H vk s e RH BT 20 A A A BP0 BIKIES
AN

(1)50 (2)40 (3)30 (4)20 =4 o



